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Circuit simulation

c{:lass resistor glass connector
resistance :=0 input1 (i)
voltage:=0 {
1
next:= connector( )
resistor(r) b
{ by
resistance=r
by
input1 (i)
{
output1(i)
b
output1 (i) R1:= reS|stor(2 Ohm)
{
voltage =i - resistance R2:= resistor(3 Ohm)
2 nextinput (i) R3:= reS|stor(5 Ohm)
by
connectt (n) R1 .connect1( 2)
{ R2.connect1(R3)
next=n
by
}
change current to
current:=1.2 A change voltage

R1.input1 (current)

curent=1.2 A R1.voltage =2.4 V R3.voltage =6 V
RA1 R2 R2.voltage=36V
R3

AWM~

R1.voltage + R2.voltage + R3.voltage =12 V




:=resistor{2

(2)
R2: —reS|stor(3)
(5)

Create unitless system,
graph can not handle
units

R3:=resistor(5

R1.connect1 (R2)
R2.connect1 (R3)

sfn( )
{

& m:=allocate matrix(100 2)
for n:=-50 , n<50 , n+-1)

1 m= setvalueatm n,n+50 0)
= R1 |nput1 sm ))

<} m=set value at m , R1.voltage + R2.voltage + R3.voltage , n+50 , 1)

3 return

}

s:=sfn( )
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